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Annual Examination, 2022 () TSTEH H1 AR W9 |

B.Sc. Part II Major drawback of utilizing enzymes
BIOCHEMISTRY iS.......... .
Paper I (a) High productivity
E 1
(Enzymology) (b) Specificity
Time : 3 Hours ] [ MAXIMUM MARKS : 50
— (c) Selectivity
e : @ue ‘o1’ 9T YRR 1 ddr AHad g1 SH
D % wam U W & P - (d) Unstable nature of enzymes.
o STF YR 1 @i @oe ‘g’ i I g (i) 71 5 & BIF-T0 TS Fe2* A1 Fed+ ST I
F T SYANT hI-theRT & ®Y H &1 hid1  ?
Note : Section ‘A’ is Objective type and is compulsory. It (1) Hrserehd ffred
should be written on the first page of Answer- () W—aﬁ,ﬁ—g
book. Section ‘B’ is Short answer type and Section
‘C’ is Long answer type. ()
@Ug ‘31’ (Section ‘A’) () qLaAlRed |
a@%wvﬂw uIq Which of the following enzymes do not use
(Multiple Choice Questions) Fe2+ or Fe3* ions as co-factors ?
el I T;{ﬁﬂl— 1x10=10 (a) Cytochrome oxidase
Choose the correct answer : (b) Dinitrogenase

(i) TSEH o ST § g ThaM §—
(31) AR IR
(&) foreroran

(c) Catalase

(d) Peroxidase.
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(iii) =1 5 9 S HI-TheR{ T8 © ?

(iv)

)

() wifetes 31 (o) THfepet

(®) smEfe () hITSTEH-T |
Which of these is not a co-factor ?
(a) Folic acid (b) Nickel

(c) Biotin (d) Coenzyme-A.

1 5 & H-1 e hIdeTey URie e Hhighe
& g e S g 2

(37) TAEHE (9) Yei fuwmm

(1) SrefaaeE () SihEedes |

Which of the following is not a function of

coenzyme-pyridoxal phosphate ?
(a) Transamination (b) Redox reaction

(c) Deamination (d) Decarboxylation.

=1 5 9 e o1 ST WieiH o faifded dfadiesm
o T feran ST © 2

(31) Teehleld

(&) T

(9) AHIfEH Fethe

(3) difeaw wHiee |
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Which of the following can be used for

selective precipitation of proteins ?
(a) Alcohol

(b) Phenol

(c) Ammonium sulphate

(d) Sodium acetate.

=1 9 @ o fordt Taifes foran o1 9w oe
772

(37) USTEH & AMqhRE 1 SET
(&) TszH o Afufa=mg § afadq
() TSTEH-ATHRREAHGHA 1 ]

(T) TSMEH ¥ UK o1 Fehmd |

Which of these is the third step of an

enzymatic reaction ?

(a) Binding of the substrate to the enzyme
(b) Change in the conformation of the

enzyme

(c) Production of an enzyme-substrate

complex

(d) Release of product from the enzyme.
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(vil) ThHUT STIET YT i o SEa¥Th 3oll ol hal

STATE ceeeereeeannn |

(1) firesy Herd Sl

() Fferau S

(F) O T et § gREdd
(2) 9. w4 |

The energy required to attain transition state

is referred to as................. .

(a) Gibbs free energy

(b) Activation energy

(c) Standard free energy change

(d) pH.

(viil) FIEAfeftEs TweRe a4 & Sa 79 & fhg

Tl ¥ S <Al © 7
(31) 107 (d) 108
(9) HFH T HY 109 (T) 106

By what factor chymotrypsin enhances the
rate of peptide bond hydrolysis ?

(a) 107 (b) 108
(c) At least 10° (d) 106.
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= & ¥ ®F-9 ToEd gidenEfastd I
Jgda o Tl SUA =& fohan S ?
(37) Ueohaolls HhIEThRieg
(&) TAMH THA JHEE

(|) y-TeHEAZHEH

(7) slfrisiierEed |

Which of the following enzyme is not used
to diagnose hepatobiliary disease ?

(a) Alkaline phosphatise

(b) Alanine aminotransferase

(c) y-glutamyltransferase

(D) 5l-nucleotidase.

Yegarst gret fepan sin T—

(1) PhfRHHITzET

() HeprhETE T

(9) Frprearast

(7) dfeed TfEeiqeersie |
Cellulose is obtained from...........
(a) Leuconostocmesenteroides
(b) Saccharomyces cerevisiae

(c) Trichodermareesei

(d) Bacillus acidopullulyticus.
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wug ‘a’ (Section ‘B’)
g FANT T
(Short Answer Type Questions)
Hfere feoqoft fafed—
Write short notes on :
1. Thel TSTEH |

Monomeric enzyme.

AL / Or
TSA3H TSR Tor |
Enzyme turnover number.

2. TfHe-o9 HheaEEd |

Acid-base catalysis.

AYAT / Or
wA IR fewium fagrm|
Strain and Distortion theory.

3. UEAIfoTTd i fshan fafy & & |

Mechanism of action of Ribonuclease.

I/30—22
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AL/ Or

FEAGFIURESH i fhar & & |

Mechanism of action of Carboxypeptidase.
4. ST IR yem wife &t sifufsran =6t 1fd |
Kinetics of Zero and first order reaction.
AT/ Or
shirfefee gigsiiee |

Competitive Inhibition.

5. TCIohISl ohl 3UTGH |
Production of Glucose.

AL/ Or

USTIEH o gR1 T bl 36 |
Production of Starch by enzymes.
Eus ‘9’ (Section ‘C’)
g i 99T 5x5=25
(Long Answer Type Questions)
Hre—get e yed ifard ¥

Note : All the five questions are compulsory.
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1. TSTEH o Fai7 {98 &l 3eeur died TH=ey |

Explain Enzyme numbering system with

examples.
AT / Or
A ISeH foed o1 38Ryl Hfed HHesd |
Explain multienzyme system with example.
. UTSISIoc HITh i hi-Thael & ®9 H 1Y &l Jo
RIS |
Explain role of co-factor as pyridoxal phosphate.
AT / Or
SITRIESIHICIE I 1T o ©U H I h U i |
Explain role of co-factor as Tetrahydrofolate.
. Toarfa =1 FI-Theet & ®9 H S 1 90 i |
Explain role of vitamins as co-factors.
AT / Or
. 2. wE. I 0 faf o v wa
Explain method of SDS PAGE.
. ST SR R ety faer & s

Explain sequential and ping-pong mechanism.
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AT / Or

ey foran H Tfsharmn St 3R Ta Sl oh WIgHa ik
Hg 1 U i |

Explain significance and evaluation of energy
of activation and free energy in enzymatic

reaction.

. TS SARISH 1 Soidele oh &4 H I9AN 1 A

H |

Explain use of glucose oxidase in electrodes.
HAYdl / Or
TotgA feerdienor s faferdi o1 aoia &3 |

Explain methods of enzyme immobilization.
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